SGhvuhalUuUUL FuNb UG - FLUTUUL cUUULUYUSNR38*

ZU4GL9U0

2z npud

Uwpwph

2/h

qunulutiph
upubing
hwhwnbu]ws
Uhgutighly

dwisljughpp’
pun U

nuuwljupgdui
(CPV)

wijuinulp

wypwibip
uyht bpwiip,

$hpluyhta
widunudp,

Unntip b
wpwnpnnh
wijunidp*™

nkthjuljuu
punipughpp ™

suthuwt
Upujnpp

Uhunjnp
ghtip/zZ npud

punhwtinip
ghup/22
npwud

punhwnip
putiuljp

dwnuljupupdut

hwugkt

Eupulw
putnuljp

dudljtwnp*

30211300/3

Zudwlupgsuyh
uwppwynpnidukp
b wwpwquukp

Ygynwd L
hwybJuény

Skjuthjulwt
punipugpkpp
ubpyuyugynd G
uwnnply, Zudbjws 1-ny:
Uhwdwdwwuly,
dwnwljupupp
wupunp k
wwwhnyby.

o Zwdwlwpghsubpnud,
wyy pynud gympwyhp,
hwhwy bu mbnunpyus
oujkpwughnt
hwdwlwpgh
Jupqupbpnid
(hudwduyu
nkuhjuljuu
hwwnlnpnphyutph
wwhwleukph):

e SIS
Jwpnpuwinnphwbph
ukppht guiigh
nbknuljuydwt
bywwnwlny
Eppninhsutiph WAN,

LAN b WiFi
Jupgquynpnud, SSID,
WPA2-PSK
wbjunwbgnipjui
dwjupnuyh b wifi
qununbwpwnh
uwwhdwinud, SZS
Jwpnpunnphwbph

[pwluqd

312,632,989

312,632,989

Lkpjuywg-
Ynud |
uwnnpl,
Zutud
2-ny

NMuydwbwgph
nidh Ukg
Uwnbknig

htwnn dhtgh
2024p-h
hnljutdptnh
31n
ubpwunyuy




hwdwp gnpswpwught
oqunnuijui b
qununbwpwnh
thnpunipini b
wnpudwnpnud:

o Puquudniuljghntiuyg
wnyhsh dhwugnid SZS
Jwpnpunnnphugh nljug
guightt LAN jwud WiFi
Uhongny:

o Puquudniuljghntiuyg
wnyhsh dpugpuiht
wwywhnydwt
nbknunpnud
huwdwlwpghsubpnud,
wyy pynud gympuyhp:
* Ukppht guigh pninp
Jupquynpnidubph,
ubpwunjuy Eppnwhsh
WAN, LAN u WiFj, SSID,
oquiynnh wunitit nu
qununbwpwnp,
hudwlwupghsubph
gqununtwpwuntph
thwunwpnpuynpoid b
npudwnpnud:

e Npnjklnnpukph
dhwugnid b
Jupquynpnid
pympulhp
hwdwlwpghsubtpht:

e SZS wpnpuwwnnphuygh
hwdwp hwhwnbudws
wpnjEynnph
wwwnh/wnwunwnh
wdpugdui
hwjwpwénih
nbknunpnud b
hudwwyuwnwuhiw
wpnjEynnph
Jupqupbpnid:

* 3D uyhsh
Jupqupbpnud:

o Uywthwpbtpwynpnid,
wpwpht
Juwuwspubtph

uwnnigni:




* Uypwiph dunwljupupdw dwdljtnp, hul thnyuyhtt twnwuwpupdwi phypnd wpwght thnih dvwnwuwpupdwt dudljnt wetiduqu 20 opugniguht op E, nph hwpquplp juwnwpynid E wuydwiiwgpny
twhwnbugws Ynnutph hpwynitipubph b wwpunwluwimpmniiitph junwpdwt gupdwit ndh ke dnubknt opp, puguwenmipjudp uwyt nhwph, tpp ppjuws dwubwlhgp hudwdwyind £ wypuiipp
dwnwljupunt) wdbth jupd dudbnnud: Uunwljupupdut pptwdudtnp sh jupnn wyby hub), pw 2024p-h nhljnbdptph 15
* Gph punpyus dwubwlgh hwpnny ukpluygply b Uklhg wybih wpnwnpnnutph Ynndhg wpunwunpyws, huyybu twb wwppbp wypuipwiht tpwl, dhpdughtt widuinud b dnpkp niikgnn wypuiiputp, wyw
npuighg pudupup ghuwhwndusubpp thpunynud B uny hwbpdwsnid:
** «Qunwlubiph dwuht» 22 opkuph 13-pr hnngwsh 5-pn Yhnh yuwhwetbph hudwduwyt guajugus hnuwb phypnud hpuntjh i Gqud hwdwpdbps puntpp:
- Uwunwlupupp whnp L wuypuwipp nknutnjuh 2Z-nd hp jud hp §onudhg qupduluus nupusp, npunbtn wypwipubpp ptinpuipughtt jupgny yhwp £ Eupuplydtt vnnigluit hwdwywnwujupwin pjuin
wuydwbwgphtt (nipupuignip wypwipwnbuwlhg punpuipughtt jupgny pynd 5 wnwh hwdwyuwnuuwinipiut vnnignd yuypdwbwugpny  twjupwnbuqus nbjubhulwt pinipwgphy), nph
hwunwwunnidhg htinn tnp whwnp k wnwpytt nypngutph guiynud wodws hwugkubpny: Twnwjupupdwt JEpptwdudjlnt k 31.10.2024p., npl hp dbe thpuenud | jhghiquuynpdus spugqpbph wbknunpnidi nu
Yupgqupkpmup, npntg Yngtpp Yppudwgpih Munghpuwnmh Ynnquhg:

- Uynuiph wknuimpunup, pintwpunidp, nknunponudp b opdwpynudp junwupmd b dwnwopupp:



ZU4EBLYU0 1

nbkhuhjulwh punipwughp -
gudwt dudwiwljugnygh
Stivuhuu4uUvu fubEeUQhr
zhdtly | Zhdtwy | Uhgtwl | Uhgtwly | Uhotwl
wh wh wpg wpg wpg
Iiulpngh r%iuumgh I}:mngh Itulpngh I}ulpngh
n 10- n 20- n 5- p 10- kp 20- | Cughwh
N° | Unjuunudp i{;‘;&ﬁﬁiﬁlﬁﬁliiq&b Uuutiligh Ynnihg il wowljlin | wowlkp | wowlbp | wpowmlp | wpwltp Irl}ll_lp
Ly wnwgwplyny n n n n n pwbul
nkubhuljwb ufjunubp Juunnip) | junnip) | onnip; | juwnnipy | funnip
wup wup wudp wudp wudp
6 23 2 13 24
Zudwljuipghs ' wdpnnon dknud Zudwlupghs® wdpnnop
Owtpwughnt hwdwljunpg " Uknud
Windows11%, Outipwghnt hwdwlupg
wpngtunp’ Intel i3 /ns oniwn pui " Windowsl1,
2023p. Upnugpnipjul/, jud wpngtunp’ Intel i3 /ny
hwdwndtp, oniwn puit 2023p.
8 @R DDR4 hhonnnipjntl, Upunugpnipjut/, jud
Gigabit (10/100/1000) LAN hwlwpdtp,
ol WLAN: 802.11ax/ac/a/b/g/n, 8 qpb D](DR‘/l hhgmlm)mmh,
ufwlupg Gigabit (10/100/1000) LAN
1 hs SSD 256 GB. WLAN- huwn 5 10 3 5 10 571
802.11ax/ac/a/b/g/n,
Utnmgdwl wnpjnip 120V-240V/ 50- | SSD 256 GB,
60Hz, Max 100W, schuko plug, Utnigdwt wnpnip 120V-
Epwt wpijuql 21.5 gynuygd 240V/ 50-60Hz, Max
wilnibwgdny juyt Eypw LCD 100W, schuko plug,
hwluwthwy WLED backlit Full-HD | Ejpwutt wntijwuqt 21.5
(1920 x 1080), Punkqpywus HD nyd wulniiugdny
Graphics, USB unbnuwywnp b USB luwyt Eypwi LCD
oynhljuljut dyuhly, hwljuthwy WLED backlit




Audio codec, ukpljunnigué
pwpdpwjunuttip b Uhpndnt,
HD wnkuwjughl,

ubkpundws pninp withpwudtown
dwnijulibip,

HDMI &qp, wntujuqut 3 huun USB
3.0, 1 hwwn USB Type-C
Bpuwpuhp® 3 nwuph
Upununpnnhg pughthpuyhu
wdwl (MAF) - Mwhwbgynud

Full-HD (1920 x 1080),
Puwnkqpué HD Graphics,
USB untnwpwip b USB
oupnhljulyut UYUhy,
Audio codec,
ubpunnigus
punpdpwhinutbp b
dhlpndnt,
HD wnbkuwfughl,
ubpwnyws pnjnp
wthpwdbown dwntputikp,
HDMI Epp, wntuduqi 3
hwwn USB 3.0, 1 huun USB
Type-C
Bpwppupp® 3 nwuph
Upwnunpnnhg
tpuphuhpuyhls unfuly
(MAF) ljnpunfumph
dwnwljupupdub
dudwbwy

Uljuuthwi
uinigdwi
uwpp

Lupdwt wdnndwn
Jupquptpnid (AVR) 145-295V,
Gipuyhtt hqnpnipniup wetuqh
500 Watts,

Unujuqlt 2 hun Schuko Jud
niupydbpuwy bjpuyhtt hnuwtiph
Jupnuty,

Pninp whpwdbown dwntukpp,
Utinigdwt jup schuko plug,
Gpuipluhp® 1 nwph
Upuunpnnhg kpugjuhpuht
twdwly (MAF) - Mwhwbeynmd k

Lupdwi wjunndwn
Jupquptpnid (AVR) 145-
295V,

Gipuyhtt hgqnpnipjniup
wntjuqt 500 Watts,
Untjuqt 2 hwwn Schuko
Jud niuhybkpuwy Epuyhte
hnuwtph Jupnuly,
Pninp wiuhpwudtown
dwynipuibpp,

Utnigdwt juip schuko
plug,

Bpwpuhp® 1 wwph
Upuunpnnhg
bpwpuhpuyhl tunfuy
(MAF) lpinpunfugpih
dunwjupupdwui
dudwinul

hwuwn

296




Aspect Ratio. 16:10 hhdtwljul, 4:3,
16:9 htmupuynp,

WXGA (1280 x 800) hhutwlul,
Uht. 3800 ynidkl,

Uhtsh 1,07 Uhihwpny gnyukp,
Unbuwnpwuwn hwpwup. >=25000:1,
Lwidwh Yyulipp dhi. 60004
(Unnwunupun), 10000h (Eynund),
HDMI Uniwnp, VGA dntinp, wninhn
uUniwnp b kyp, USB 2.0, VGA Lyp,

Aspect Ratio. 16:10
hhutwlw, 4:3, 16:9
htwpwynp,

WXGA (1280 x 800)
hhdbwlul,

Uht. 3800 qjnudkl,
dhtisl 1,07 Uhhwpy
gnijukp,

Untuwnpuwuwn hwpup.
>=25000:1,

Ludwh Yywipp dhi.
6000d (Unwunupun),
10000h (Eyntnd),
HDMI dniwnp, VGA
Uniwnp, wninhn Udniwnp b

NpnykYunnp Ubpundud  hnuwiiph pup, tip, USB 2.0, VGA typ, hwwn 136
‘Ukpwunywsé L hnuwtph
htnwljwrwdupdw quhwbwl b i, hbpuluuuput
dwpwnlngubp, hunbtgpyusé Juihwbnal b
HOMT danpfa 15 upulnglity.
220V-240V/50-60Hz (uliniguuh %%”ﬁ?ﬂi‘ﬁﬁﬁf;&gmhm“’
twpp schuko quprulhg) 220V-240V/50-60Hz
Gpuppupp 3 tuph
(utinigdwtt jupp schuko
Upuunpnnhg tpupjuhpuiht llmpf}?lﬂlb )l e
tudwly (MAF) - Twhwhegnid E bpmzm% —
Upununpnnhg
tpwpfuhpuht tunfwly
(MAF) qupudwnpdh
dwnwlwpupdui
dudwiul
Stuwljp - thnthnpuwljubt hnuwtph Stuwrlyp — thnhnfuwluh
ulimigudwt jup Yghsubiph mbkuwlp hnuwtph ubmguub [wp
Male, Schuko CEE 7/7 Female End
Utmgdult | o 1pc 320 €13 Ughobliph wtuwlyp h 68
up ype Male, Schuko CEE 7/7 e

Lwph Epupnipniup - 10d

Upununpnnhg kpupuhpuht
twdwl] (MAF) - 2h wwhwgynid

Female End Type - IEC 320
C13




Lwph Epljupnipynibp -
10d

Sydwl dup qugkpuyht,
thwupwpnph
dunnigdwt dip
wywnnduwn (ADF), suthp
A4,

Swwgpnipjul
Sydwt dup’ jmqbpuyhl, wpwgnipniup wntjuqh
thwupwpnrh dunnigdut dlip A4 sunthh 38 Ly pnwyhinud,
wyundwwn (ADF), sunhp A4, ubpunnigus
Sywgnpnipjut wpwgnipjniup Epyynnuwih
wnujuqt A4 swthh 38 by pnutinid, | upwbwynpdwi,
ubkplupnigus Epyynnuwh wuwndktwhwidw nu
upwbuwynpdul, nydwl
wuwndkhwhwidwb nt inydwh htwpwynpnipjntl,
Puquudnm | htwpwynpnipnil, wnujuqu 512 Mb
uljghntiw] | wntduqi 512 Mb hhonnnipnil, hhonnnipintl, hwwn 68
wnwhy ADF-h wwipnnnipjniup 50 Ly, ADF-h vnwipnnnipiniup 50
Uhwgmuubp USB 2.0, Ethernet ko,
(10/100/1000) LAN, Uhwgnidukp USB 2.0,
‘UkpYh Yphs (cartridge), Ethernet (10/100/1000)
Utinignidp 220-240V/50-60Hz, LAN,
uliniguwt jup schuko Yghsny, ‘Lkphh Yphs (cartridge),
Bpwotuhp' 3 wiuph Utinignidp 220-240V/50-
Upwwunnnnhg tpwojuhpuyhtn 60Hz, utinigdwl jup
twdwly (MAF) - Mwhwbeynmd k schuko Yghsnt,
Epuwpjuhp® 3 nwuph
Upuunpnnhg
tpwpjuhpuht tundwly
(MAF) Yjunpudwnpih
dwnwlwpupdui
dudwimy
3D wyhs | Gnwswih FDM nyhs Gowswth FDM wnuhs hwwn 68




Sywgpdwi dup - FDM
wnwyusdph swthp — 220%220°240 Ud
ny knt wnwybjugni
wpugnipniip - 500 Ud /AdpYy
nyuiyniph wpwudwghsdp - 1,75
ud

nwpugnighsh kjpuyht
wnpwdwghdp - 0,4 UU
wnwpugdwb okipdwunhdwn - <
260 c

hpuph nwpwugynn hwppwyh
obpdwumnhfup — < 100 ¢
hhuph dwljtptup — PEI dqynn
hhduwyhtt hwppwy

File Transfer — USB drive, LAN
Extruder — Upgraded, direct
extrusion

Leveling Mode — Hands-free auto
levelling

Elyput - 4,3 gynyd gnibwdnp
ukbiunpuyhtt Eypute

Utnigdwt punhwwndw
nudybtduwmgnid- Ujn

Znudph wjwpwnh nyghs - Ujn
Znudph htwpunp nkuwlukp -
PLA, PETG, ABS, TPU, ASA
Bpwpluhp® 1 wwuph
Upununpnnhg kpupjuhpurht
twdwly (MAF) - Mwhwbeymu k

Swwgpuwt dlup - FDM
nyywsph yurthp -
220220240 Ud
ny knt wnwybjugny
wpwqnipniup - 500 dd
My
nwwiyniph wnpudwughsdp
-1,75dd
nwpugnighsh kjpuyht
wnpwdwghdp - 0,4 UU
tnuwpugdul
obpdwumhgup - < 260 ¢
hhuph nwpwgynn
huppwlh
otipdwunmh&wup - < 100 ¢
hhuph dwyjtptup - PEI
&qynn hhdtwghtt hwppuy
File Transfer — USB drive,
LAN
Extruder — Upgraded,
direct extrusion
Leveling Mode — Hands-
free auto levelling
Eypwul - 4,3 pynyd
gnibtwynp ukbunpuyhte
Eypwl
Utnigdwt punphwndwi
yndytduwgnid- Ujn
2nutph wnfupuh unhy -
Un
znidph htmpuynp
nbkuwljutp - PLA, PETG,
ABS, TPU, ASA
Epuwpjuhp® 1 nwph
Unpunugpnnhg
bpwpuhpuyhl tunfuy
(MAF) Yupunfwnpdh




dunujupupdwui
dudwimy

Opwgpuyhlt wywhnynudp'
Windows 11*

CPU Inter i3 pnnyuplnudp ny ontn
puitt 2023p. Yud hwdwpdtp

8GB DDR4

SSD 256 GB

120-240V/50-60 2g, ny gk puit
100 9w, Ejpuyhtt yupnul Schuko,
WLAN: 802.11 ax/ac/a/b/g/n,
Bluetooth,

Opwgpuhtt
wwwhnynidp Windows
11

CPU Inter i3 panuplnidp
ns oniwn puih 2023p. Jud
hwdwpdtp

8GB DDR4

SSD 256 GB
120-240V/50-60 2g, ny
wyk) put 100 9n,
Epuyhtt Jupnuly Schuko,
WLAN: 802.11
ax/ac/a/b/g/n, Bluetooth,
Eypwih wilymbwghsp
wnujugqt 15,6’ ynyd LCD

Ynipwlhp ) (1920*1080),
Ejpwth wiljnitughdp wnuuqu
hm‘[‘glmpq 156"y LCD (192071080), bhﬁ%ﬁimb HD hun Y
bPuwntqpjwé HD qpudhlu, %f L[pnrlguﬂ’lulq d
Udpnnowljuqu uinbintwownp, wntn iy, piugh
plught Juhwbuy thﬂm u12].1 P PHH
Uninhnlngkl], ubpjunnigdus Uninhnlynnky
pwpdpwjunutitbp b jpnuwthng, HD ubplunnigud
WEB nkuwhughl, HDMI kip I \ hfl -
Unlfugql 2x USB 3.0 PHPAPTERY AT
5 a5 3 hunuwthny, HD WEB
puigjupp 3 nwph wnbkuwjughly, HDMI kp
Upuiunpanhg bpugjuppuyhl Untiwql 2x USB 3.0
twdwl (MAF) - Mwhubigynud k Gpuohuhp 3 Ullll[lfl
Upuunpnnhg
tpwpjuhpuht tundwly
(MAF) Yjunpudwnpih
dwnwlwpupdui
dudwimy
Wi-Fi 10/100/1000 Ethernet wynpu (1 10/100/1000 Ethernet
Qhquphpe Wan wnpu, 4 Shqu npwn (1 Shquphp Wan huwn 136
kppnighy | T4WERP Wan wnp bquphp | wnp hquphp

LAN wynpwn) USB hunbpdlju

wnpu, 4 Shquphpe LAN




(4G/3G/2G) Unptdh LW HDD $wy kph
ubpytph hwdwp

2,4 Q2g+5%2g

300Uphp/Uny, +867 Uphp/Uny,
802,11 ac/n/g/b/a

WPA-PSK, WPA-Enterprise
(WPA/WPA2,TKIP/AES)

wnpwn) USB htnbkpdbju
(4G/3G/2G) Unptdh b
HDD dwyitph ubpytph
hwdwp

2,4 @2g+59%2g
300Uphp/ny, +867
Uphp/iny, 802,11

120-240v/ 50-60.2g, ujuuwnp ac/n/g/b/a
hnuwuph wnwuwwntn (Schuko plug) | WPA-PSK, WPA-
hnuwtph jup Schuko Juipyulyny, Enterprise
Bpwpjuhp' 1 wwwupp (WPA/WPA2,TKIP/AES)
Upunwnpnnhg Epuojuhpuyghin 120-240v/ 50-602g, yyunh
twdwly (MAF) - Mwhwbeymu hnuwbph wwuunkp
(Schuko plug) hnuwtph
1wp Schuko Juipnulyni,
Epuwpupp® 1 wnwph
Upwnunpnnhg
tpuphuhpuyhli unfuy
(MAF) fupundwnpigh
dwnwljupupdub
dudwbwy
NMpnjkiunnph yuwnhtt wdpugdwt | Npojkljunph yuwwnp
hwwpwént wdpugdutt hwjwpwdnt
Untunnwddwt mkuwyp - Untunwddwt mkuwlp -
Unwutnwnht mipwgnn Unwuwnwnht mdpwgnn
Cwpddwb nbuwlp - plpnipmil Cupddwi nkuwlyp -
NMuwnh .
wlpugiut Umntpen (Eghpws ynnuun ‘ phpmp‘]mh
hururpusbn Puipdpnipjutt jupquynpnid 625- | Unipp (kghpdus
L 850 Uu wnnyuwn hwwn 68
Zupuwn £ 225-315 Jd phpnipjui Pupdpnipjul
wpnykYnnp onowtiugsh npudwghsd niikgnn Jupquujnpnud” 625-850
b hudwp
wpnjkjnnputph hwdwp ud
Unwkjugnyup. Zupuwn k£ 225-315 dd
Phntwwnwpnnnipni’ 204q/44pp phpnipjut opowiugsh
Upwnunpnnhg kpupphpuyh npwilwghs ntkgnn
twdwl] (MAF) - 2h wwhwbgynid wpnjjunnpubph hwdwp




Unwytjwugnijup.
Phptwnupnnnipynil
204q/441p

10

RFID
Ukliwpluy
ht
huJwpwébn
1

Qupkpnid ubkpundws k.

1 x UNO Board

1 x USB dwntju

1 x Jump dwntfu,

1 x Breadboard

5 x LED 1nyu,

1 x nhqhuwninpubph thwptp

1 x Female to male dupond line
1 x wnukughnubwnp,

1 x Buzzer

1 x 74HC595,

1 X Pudpuljupdhp pugniihy
1 x LM35,

1 x $1kjuh ukiunp

1 x gupudl whpwwnhsg,

1 x dnunnntqhuwnnp

1 x Key §n&ul,

1 x hinwjunwdupdwt Juhwiuy
1 x 4 uhp gmgunpnn unnnul
1 x 8 * 8 hnuyhtt dwinphgu
Unnni

1 x 1 pyubipwmb gnigunpnn
nhuw G

1 x puijjuyghtt pupdhsp nklunwpny
wuhl

1 x pujjuyghtt gwpdhy,

1 X 9g Servo,

1xIIC 1602 LCD

1 x XY joystick Unnniy

1 x Qkpdwunhdwuh Unnniy

1 x Qph thnpdwpluwb dnyny
1 x RFID dUnnnuy,

1 x RFID pmttwjhubph onpw

Qupkpnid ubpundws k.

1 x UNO Board

1 x USB dwntju

1 x Jump dwnthy,

1 x Breadboard

5 x LED nuju,

1 x niqghuwnnpubph
thuptp

1 x Female to male dupond
line

1 x wynunkughnutwnp,
1 x Buzzer

1 x 74HC595,

1 X Pudpwljupuhp
punniiihy

1 x LM35,

1 x 1yl ubtunp

1 x qunudl wgunhy,
1 x $nunnkqhuwnnp

1 x Key ndul,

1 x hipwljwpwdupdw
Juhwiwy

1 x 4 uhp gnigunpny
hannnguly

1x8* 8 Ymuwyht
dwwnphgu Unnniy

1x 1 pyutiputt
gnigunpnn ghuw G

1 x pujuyhi pupdhyp
nblurupnn uuhy

1 x puwjjughtt gwpdhs,
1 X 9g Servo,

1xIIC 1602 LCD

1 x XY joystick Unnniy

h-6m.

115




1 x RFID uyhwhwl] pupuwn,

1 x Awjtiugght Unnniy

1 x nkkh Unynuy,

1 x dudwgnijgh Unnniy

1 x 4*4 unbinwpunp,

1 x RGB 3 gnitwynp Unnniy

1 x 9V dwpwnlyng Snap
Upununpnnhg pughthpuyhu
twdwl] (MAF) - 2h ywhwbgynid

1 x Qkpdwunh&wuh
Unnni
1 x Qph thnpdwpluuie
Unnni
1 x RFID dUnnnuy,
1 x RFID pmtiwmjhubiph
2npw
1 x RFID uyhwnhwlj pupu,
1 x duyguyghtt Unpny
1 x nk1kh Unnn,
1 x dudwugnygh Unnny
1 x 4*4 unbinuwowp,
1 x RGB 3 gnituwynp
Unnny

1 x 9V dwpwnljng Snap

11

Ukiunpuyh
¢}
unnmutph
hwjupwén
1

Qupkpnid ubkpundws k.

1 x Soil module

1 x Infrared sensor receiver module,
1 x Laser head sensor module,

1 x Temperature and humidity sensor
module,

1 x Infrared emission sensor module,
1 x5V relay module,

1 x Gyro Module,

1 x For Arduino finger detect
heartbeat module,

1 x Microphone sensitivity sensor
module,

1 x Metal touch sensor module,

1 x Flame sensor module,

1 x 3-qnyu LED dnnny

1 x Hunt uktiunpujhtt Unnny,

1 x gdwyhtt dwquhuwljwt Hall
uktiunp,

1 x Muunynn Ynnwynphs dnnnig

1 x wjinnhy wqnubipwth Unyniy,

1 x Magic Light Cup Unnnuiy,

1 x Onpp wwuhy wqnupwbwghl

Qupkpnid ubpundws k.

1 x Soil module

1 x Infrared sensor receiver
module,

1 x Laser head sensor
module,

1 x Temperature and
humidity sensor module,
1 x Infrared emission
sensor module,

1 x5V relay module,

1 x Gyro Module,

1 x For Arduino finger
detect heartbeat module,
1 x Microphone sensitivity
sensor module,

1 x Metal touch sensor
module,

1 x Flame sensor module,
1 x 3-gnyu LED dnnn
1 x Hunt uktunpwjhtt
Unnniy,

h-6n1

115




Unnniy,

1 x pYuyht obpdwunhdwth
uktunpuyhti Unnnay,

1 x plip wgwnhy Unnniy,

1 x Zn1gtph wtwnghwlwi
dwqthuwlwi uktunp,

1 x Myunpwdwjtughl dnnnyy,

1 x Mercury pugudwt Unnniy,

1 x Hall dmquhuwljut ukiunpuyghtt
Unnniy,

1 x RGB LED SMD unnnijy,

1 x Arduino Mini Reed Unnnijh
hwdwp,

1 x tiplqnyu LED punhwunip
Jupennuyht Ungni 3 Ud,

1 x Smart car juntuwthny
funsplnnuntiphg huppwupuhp
uktiunpuyhtt nunnk Ejnpuju
wligwwnhy,

1 x Key switch Unnnij,

1 x dnuinnkqhuwnnp dnnnuy,

1 x Breadboard tutpghuyh uUngniy,
1 x Arduino-h hwdwp hwupjwsh
uktiunpuyht Ungniy,

1 x gbpdwuwnhfwth uktiunpuyhe
Unnny,

1 x Jhppughuyh wgunhy unnm,
1 x junuwthnnh dwyuh ukbunpuyhte
Unnny,

1 x Large reed Unnnuy,

1 x Liplygnyu LED Unnnyy,

1 x oyinpljwljwt juquut Unnniy,
1 x oipdwunhdwuh ukunpuyhu
Unnni

1 x MP1584EN buck unnnij,

1 x SD puipwn pupkpgnn dnnny,

1 x PS2 Joystick fumunh

1 x gbuyhtt dwquhuwlu
Hall uktunp,

1 x Muwnynn Ynnudnphs
Unnni

1 x wljnhy wqnuipwth
Unnniy,

1 x Magic Light Cup
Unnniy,

1 x Onpp ywuuhy
wqnpuuwbiughtt Unnny,
1 x puyht
ohpdwumhguh
uktunpuyht Unnnuy,

1 x plip wuowinhy Unnnuy,
1 x Zngkpp
wlw)nghwlju
dwquhuwlwt ukuunp,

1 x Mjunpwdwjtught
Unnniy,

1 x Mercury pugdwl
Unnnyy,

1 x Hall dwquthuwmfjut
uklunpuyhti Ungny,

1 x RGB LED SMD ungniy,
1 x Arduino Mini Reed
Unnnijh hwdwp,

1 x Lplgnyu LED
nunhwunip Jupnnught
Unnnyy 3 Ud,

1 x Smart car juntuwthng
Jungplipnintitiphg
huppwlupdpp
ukiunpuyht

$nunnk Ejupuljut
wligwinhy,

1 x Key switch unnni,

1 x Snunnntqhuwnnp
Unnniy,




Jupquynphs Unnni) Arduinoh
hwdwp

1 x Uduindwwn puippnn LED
Unnni

1 x DS1302 dudwgnyjgh dnnniy
(wnwtg dwpwnlyngh)

1 x opp dwlwpyuyh unyniy
Upununpnnhg pughthpuyhu
twdwl] (MAF) - 2h ywhwbgynid

1 x Breadboard tutpghuyh
Unnniy,
1 x Arduino-h hwdwp
hwpdwsh uktunpuyghte
Unnniy,
1 x oipdwuwnhgwuh
ukllunpuyhti Unyniy,
1 x ypppughuyh
wligwinpsy Unnniy,
1 x lunuwthnnh dwyh
uktunpuyht Unnnuy,
1 x Large reed Unnmnuy,
1 x Lplygnyu LED dnyny,
1 x oyyinhljuut juquiwn
Unnniy,
1 x obipdwunh&wth
uklunpuyhtt Unyny
1 x MP1584EN buck
Unnniy,
1 x SD puipwn puptpgnn
Unnniy,
1 x PS2 Joystick jawunh
Yupqunphy ungnug
Arduinoh hudwp
1 x Ujuuindwwn puppnn
LED uUnpnip
1 x DS1302 dwdwgnygh
Unnni) (wnwlg
Uwpnyngh)

1 x oph dwlupnulh

Unnny




12

Smart Robot
Ubpklw
hwjupwén
1

Qupkpnid ukpundws k.

1 x V4.0 Development Board

1 x L298P Shield

1 x V5 Sensor Shield

1 x HC-SR04 Ultrasonic Sensor

1 x HM-10 Bluetooth-4.0 Module
1 x Remote Control

1 x Led Matrix Panel 8x16

1 x HX-2.54 4P Female Dupont Line
1 x 9G Servo Motor

1 x IR Receiver Module

2 x Photocell Sensor

1 x Red Led module

1 x Acrylic Board

1 x Tank Robot Acrylic Board

4 x Metal Holder,

1 x L-type Brackets,

2 x Tank Driver Wheel

2 x muth Ypnn wthy

2 x Caterpillar Band,

2 x Uhnnunuljut puipdhy

1 x wyuuwnhl hwppul,

1 x USB dwnt}u (1 U)

5 x 2.54 3pin F-F Dupont
UEnwnuup (20 ud)

10 x F-F Dupont dkwnwunujunp (15
uu)

2 x Ugulygnn dwubip (27*27*16 U,
Juuyniyun)

1 x 18650 2 puhl Ywpwnlng yyuihny
2 x ynudk pni, 4 x kqp Ypng

10 x iguulyjni ynudk pnith
(M3*10 uu)

4 x Jkguulynit ynudk pnuh
(M3*45 )

2 x ynudk vhwgnu,

3 x M3 * 10 Ud hwupp qijuh
wunntnuljitkp

Qupkpnid ubpunquws ki

1 x V4.0 Development
Board

1 x L298P Shield

1 x V5 Sensor Shield

1 x HC-SR04 Ultrasonic
Sensor

1 x HM-10 Bluetooth-4.0
Module

1 x Remote Control

1 x Led Matrix Panel 8x16
1 x HX-2.54 4P Female
Dupont Line

1 x 9G Servo Motor

1 x IR Receiver Module
2 x Photocell Sensor

1 x Red Led module

1 x Acrylic Board

1 x Tank Robot Acrylic
Board

4 x Metal Holder,

1 x L-type Brackets,

2 x Tank Driver Wheel

2 x mwtyh Ypnn wmthy
2 x Caterpillar Band,

2 x Uhwnwnuljub pupdhy
1 x yjmuwnhl hwuppul,
1 x USB dwntju (1 u)

5 x 2.54 3pin F-F Dupont
Ubktnwnuun (20 ud)

10 x F-F Dupont
Ubktnwnuun (15 ud)

2 x Upwljgnn dwubp
(272716 U, uauynijn)
1 x 18650 2 puhly
dwpunlng wwhnn

2 x ynudk pnith, 4 x kqp
Ynnn

hwuwn

115




20 x ‘Ukppht ykguilynit
wuniinwlubkp (M376 UU)

10 x Lkppht Jkgulyniu
wunntnul (M3*8 du)

4 x ‘Ukippht Jkguilnit yunnunul
(M3 * 25 du)

4 x 'Ukppht yEguiiynit wunninwly
(M4 * 12 du)

4 x 'Ukippht yEguiynit wunninwly
(M4*40 ud)

2 x Ukippht Jkguilnit yunnunul
(M4 * 50 Uu)

14 x M3 plulnyq,

2 x M4 huptwthwuljynn Nuts

8 x M2 nlynyq,

10 x M4 Nuts

6 x M2 * 10 U Ynp qjluny
wuniinwlubkp

8 x M3 * 12 d Ynp qjuny
wunntnuljtkp

2x 2.0 * 40 U Slotted
Muninwluwhwb

1 x M1.5 Jkguilnit pwtiwih
uhjEjuyuwn Allen
wuntnulwpwubwh

1 x M2.5 Jkgutljnits putiuh
uhlEjuyun Allen
wyuninwluwpwiiwgh

1 x M3 Jkguiulyni putiurgp
uhEjuyun Allen
wunntnwlwpwbwh

6 x il ntk dwntpjpught juuybp

1 x 8 Ud ninpnit unpnquly (12 ud)
1 x nilnpuwnhy unupupninpe
Upwnunpnnhg kpupphpuyh
twdwl] (MAF) - 2h wuwhwbgynid

10 x ykgutjjnit wnudk
pnuth (M3*10 uu)

4 x Jkgulynit ynudk
pnth (M3*45 Uu)

2 x ynudk vhwugnid,

3 x M3 * 10 Ul hwpp qifuh
wuniinwlukp

20 x ‘Ukppht ykguilnih
wunniinwlubp (M3*6 Ud)
10 x Ukppht kgutlnit
wuninuly (M3*8 du)

4 x Lkppht Jkgulyniu
wununuly (M3 * 25 dd)
4 x Lkppht Jkgutlyniu
wunniinwl (M4 * 12 )
4 x Utippht ykguilniu
wunniinwly (M4*40 )

2 x Utippht ykguilyniu
wununul (M4 * 50 Ud)
14 x M3 npulynyq,

2 x M4 huptwthwuljynn
Nuts

8 x M2 npulnyq,

10 x M4 Nuts

6 x M2 * 10 Ud Ypnp qjluny
wuntinwlutp

8 x M3 * 12 d Ynp qjjuny
wuntinwljukp

2 x 2.0 * 40 U Slotted
NMununwljwhwi

1 x M1.5 ykguulniu
pwtiwih thjiuyun
Allen
wunninwluwpwbwgh

1 x M2.5 Jkguilyniu
pwtiwgh thykuyun
Allen
yuninwljwputiuh




1 x M3 Jkguulyniu
pwtiwh thykuyun
Allen
yunninwljuwpwbiugh
6 x by nuk dwntuwghte
Quugtp
1 x 8 Ud ninpnit
hunnnyuy (12 ud)
1 x nlnpuwnhy
unjupupnLp

13

Ekhunpuy
wb
ukunputp
h
huJwpwédn
1

Zwupwdnil tkpwnnud k.

1 x Traffic light module

1 x RGB LED module

1 x 4-digit LED Display module

1 x Active Buzzer module

1 x Passive buzzer module

1 x Motor Module

1 x BJuyhtt Yndwlhh dnynyy

1 x Untinkiuhy hydwb ukiunp

1 x Fwlngutiph ukbiunp

1 x phpnipjut pyuyht ukitunp

1 x Lnyup pughwndwb ukiunp

1 x gipynt ukiunp

1 x Zn(1h dwquhuwwh ukunp

1 x Pufudwt $1ko uktiunp

1 x @6h htnwgsdwt ubkitunp

1 x unspunnunubtphg juntuwthbne
ukliunp

1 x dnuinglkijh ukiunp

1 x Utwnquyht obpdwumnhfwiih
gnighy

1 x Utwnquyhtt nninughwjh
ukiunp

1 x Ubwnquyht dwjuughtt nghy
1 x D1 juh wqnubpwbiuyghtt ukiunp
1 x oph dwjupnulh uktiunp

1 x hnnh juntwynipjut uktunp

Zujupwdnil ukpunnid
k.
1 x Traffic light module

1 x RGB LED module

1 x 4-digit LED Display
module

1 x Active Buzzer module

1 x Passive buzzer module
1 x Motor Module

1 x BJuyht Yndwlh
Unnn

1 x Ununtuuhy hydw
ukiunp

1 x Fulngubiph ukiunp

1 x phpnipjub pYuyhl
ukiunp

1 x Lnyuh pughwndw
ukiunp

1 x gkpynt ukiunp

1 x Zn) h dwquhuwfwb
ukliunp

1 x Pufudwt $1kp ukiunp
1 x @5h htnwgddw
uktiunp

1 x ungptipninibiphg
untuwthbnt uktiunp

1 x dnwnghijh uktunp

h-6m.

115




1 x qgninpont funtwynipjut
ukltiunp

1 x Ghpundhjuljwi Jhppughuygh
ukitunp

1 x Lupdwt hwjntwpbpdu
Unnni

1 x pyuyhtt IR hwnnpnhs dnnnig
1 x pyuyhtt IR pugniuhy dnnniy

1 x Joystick Unnniy

1 x 1 Channel Relay Unnni

1 x Mnuynn Ynnwynphs dnnni
1 x qupypuluhtt wpugnipjut
Untthiinphugh ukiunp

1 x gduyhtt obpdwumhguih
uktiunp

1 x DHT11 Juntwynipjui
otpUwunmh&wth Unyni

1 x HC-SR04 nijnnpwdwyuuyght
Unnni

1 x PIR pwipduwt gnighy
Upununpnnhg tpupuhpurht
ttwdwl] (MAF) - 2h wywhwbigynid

1 x Utwnquyjhtt

otpdwunhdlwh gnighy

1 x Uhwnquyht

nnunwghuwyh ukiunp

1 x Uhwnquyht

duyjiught gy

1 x d1Epuh

wqnpuupwbwghtt uktunp

1 x oph dwljuipryulh

ukiunp

1 x hnnh juntwynipjus

ukiunp

1 x gqninpont

huntwynipjul ukiunp

1 x Ghpudhljuut

Ypppughuyh uktiunp

1 x Lupdwt

hwyntwptpdwt Unyny

1 x pyuyhti IR hwnnpnhy

Unnny

1 x pYuyht IR punnithy

Unnniyy

1 x Joystick Unnniy

1 x 1 Channel Relay unnnij

1 x Mnwnynn Ynnwynphs

Unnn

1 x qupybpuljught

wpwqnipjul

Unthuninphuigh ukiunp

1 x gduyht

obpdwumhgwth ukiunp

1 x DHT11 luntwynipjui

obpdwumhgwuth dnyny

1 x HC-SR04

nijnpwduyiiuyht Unngnyg
1 x PIR puipddwi gnighs

14

dwntiju

UTP Cat6 LAN dwynifu 100 U

UTP Cat6 LAN duyniju
100

hwuwn

68




Upununpnnhg kpupuhpurht
twdwl] (MAF) - 2h wyuwhwgynid

RJ45 thulghs (Cat6)

RJ4
15 dhlﬁlph Upnumpnnhg kpuohthpuht J45 dpurlyghs (Cat6) hun | 30 50 15 30 50 2950
92| yuwwl (MAF) - 2h yuhwigynud
Uhulighsh | RJ45 uhulghsh ubmutiwt gnpshp
16 | ubquuwi | Upuunpnnhg tpuphshpught RJ45 dhwhf%? atntwb |y e 2 3 1 2 3 181
qnpéhp | iy (MAF) - 2h wyuthwiigyntd 4One
Uwnithiwghtt juuhy 10 ud Uwnipawghtt uuyhy 10
17 U;lu ﬁtll:;l]h Upuwuypnnhg kpupuhpuyhta ud huwwn 1 1 1 1 1 68
2| yufwl (MAF) - 2h yuhwigynid
Micro HDMI male to HDMI male
dwniju, 19-pin HDMI nnbkuwljp Micro HDMI male to
Uuyntje A(m) HDMI male duntju, 19-
18 HDMI Bpwpnipniup 1 d pin HDMI wtuwljp A(m) hwwn 1 2 1 1 2 115
hwdwwnbnth 4Kp60 htwn Bplupnipniup 1
Upwnunpnnhg tpuohuppuyhtn hwdwwnbnkih 4Kp60 htin
twdwl] (MAF) - 2h yyjwhwbigynid
bkl npulut wuwppph EEyupulub mwuppkph
hwjwpwsdnt.
hwjwpwédnt.
1 x Power Module
1 x Power Module . .
. . 1 x 830 Connection Point
1 x 830 Connection Point Breadboard
Breadboard
1 x 65 Jumper
1 x 65 Jumper
140 x Solderless Jumpers
140 x Solderless Jumpers
20 x Female-To-Male Dupont Cables 20 x Female-To-Mal
LEyupwl | 2 x Pin Headers (40 thhi) * remate- Torvate
Dupont Cables
i 1 x d2qppn wynnkughnitinp 2 x Pin Headers (40 thhi)
19 | wwppkph | 2 x nuinntqhuninpubp h-6n1 1 2 1 1 2 115
1 x &oqphunn
hwdwpwdn | 1 x Fhpdhunnp
wnwnkughnutwnp
1 5 x nhnuht ninnhsutip (1IN4007)
npnpugpt nun I
2 x pnunnntqhunnputp
5 x NPN wnpwiqhuninpitip
1 x FEpdhuwnnp
(Pn2222)
1 x IC 4N35 5 x nhnnuyhts manhsubp
(1N4007)
1 x IC 74Hc595 5 x NPN
1 x Uljinhy dwytiwaplihy
1 x Nwuhy dwybwplhy tnpubqpunnpbip
(Pn2222)
10 x Yn&wljuktip (thnpp)

1 x IC 4N35




10 x 22 pf Ykpwdhlulwh
nunkiuwwnnpubp

10 x 100nf Ykpudhjulwuu
ynuntkiuwnnpubp

5 x Eikljnpnihwnpy
nuntkuuwnnpubp (10°Uf50V)
5 x Eykyupnihwhy
Ynunkuuwwnnptp (10°0Uf50V)
10 x Uyhwnnwy) (niuwghnnubp
10 x ntinht (nruwnhnnubp

10 x Yuuyniywn |ntuwunhnnubp
10 x Ywbwy (niuwnphnnubp

10 x Yuipdhp (nruwunhnnubp
1xRGB LED

10 x nkqhuwnnpukp (10'R)

10 x nkqhuwnnputp (10*0R)

10 x ghuwnpnipniu (220R)

10 x nhdwnpnipini (330R)

10 x nphdwnpnipinti (1K)

10 x nphdwnpnipinti (2K)

10 x nphdwnpnipini (5K1)

10 x nkqhuwnnpukp (10°K)

10 x nkqhuwnnpukp (10*0K)

10 x nkqhuwnnpukp (1 U)
Unwnunpnnhg puphthpuhtu
twdwy (MAF) - 2h wuwhwigymud

1x IC 74Hc595

1 x Ul duyliwuplhy
1 x Mwuhy dwyuwplhy
10 x Yn&wljutip (thnpp)
10 x 22 pf Ykpwdhjului
nunbkuivwwnnputp
10 x 100nf YEpuwdhljulwi
nunktiuwwnnpubp
5 x Eykunpnjhwhy
ynunktuwnnputp (10°Uf
50V)
5 x Bkljupnihnpy
Ynuntivwnnputp
(10*0Uf 50V)
10 x Uy hwnuy
|ntuwnhnnubp
10 x ntinht jnruwnhnnutp
10 x Yuwniwn
|ntuwnhnnubp
10 x Quiwy
|ntuwnhnrubp
10 x Gupuhp
|ntuwnhnnubp
1xRGB LED
10 x nighuwnnputp (10'R)
10 x nighuwnnputp (10*0R)
10 x nhdwnpnipni
(220R)
10 x nhdwnpnipni
(330R)
10 x nhdwnpnipniu (1K)
10 x nhdwnpnipniu (2K)
10 x nhdwnpnipni (5K1)
10 x nkiqhuwnnputp (10°K)
10 x nkqhuwnnpubp
(10*0K)

10 x nkqhuwnnpubp (1 U)




Uwnbnwywph nnwnbkp huybpkl,
puthutighly

oqunugnpddwt htwpunpnipini
- Ukjuiqulju oginuugnpsuiwt
htuwpwynpnipmiu

Pattern - Letter Print

Uwnbntwowph mwunkp
huybpk, puthwughly
oguiugnpddwi
htwpwynpnipmnit -
Utjutqudjm
oguiugnpddwi
htwpwynpnipmnil
Pattern - Letter Print

20 :h“ﬁ‘i gﬁﬂﬂﬁﬁﬁﬁg ’ 11112;13][ Uhwynpibph putwl -1 | huwn 10 10 571
Uniph wbuwlp - Jhify bt
Udupunuljub mbupn -
Quithu — jnipwpwiignip tnwn 11 Ud wiithuy
x 13 U (0,43307"mynyu x
Upniph inbuwyp - Yhijy
0.51181"nyniyd) Quithu — jnipupwitisjnip
Upurunpnnhg tpupjuhpuih
twful (MAF) - 2h wuhwbggnud wan 110 13 U4
(0,43307"yynipd x
0,51181""nyyu)
Eikjunpuljub gnpshpltph
hwjwpwdnt wnuijuqi hknlyuy ElEjupuljut
wupntbwlnipudp. gnpdhpubkph hwjwpwdnt
1 x BJuyhtt Unyynnhdtnp () DC wnujuqt hbwnlyuyg
jupnid ~ 1000V, AC jupnud ~ 750V, | wupnibwlnipyudp.
~ 2000Kohm, DC Amp ~ 2000u 1 x FJuyht Unyjinhubnp
1 x5 "" Chnuuljnit upny () DC qupnid ~ 1000V, AC
nuwthulupkpub wpgut (upnwd ~ 750V, ©
Elhlﬂl’;lpmll 1x5 " Epljup ppny 2000Kohm, DC Amp ~
nwthwlwpkput wpgu 2000u
21 npohplitp 1 x @Juyht jupdwl uinnighy 1x5" Chnuulnih h-6n1 2 2 115
hu llulllpulbn 1 x 30W soldering iron kpljup Jupnn muhwlwpbput
. 1 x Uyyugnplwt wynuy wpgult
1 x juuywp + hwjwopuhnhs (hnup) | 1 x5 " Gplwp ppny
(qnnUwt phptn) nuthwljupkpub wpgut
1 x Uknwnulwi dkYniuhy 1 x @Juyht jupdwt
dwpnnn gnpshp (Uknwunuyuu uwnnighs
phkpénn) 0,6-2,6 UU 1 x 30W soldering iron
1 x Mhughwn Epyup

1 x Fwbwl) thnjuynn sbnpbpng
1 x uyhnwl PVC duyudkl

1 x Uyuqnnuwit ynudy




2 x Mninwljwhwi 3" nynyd 1 x Juwyuwp +
x3D+- hwljwopuhnhy (hnup)
2 x Muninujwhwi 3" gynyd (qnniwt phptn)
x5D+- 1 x Ubnunuiu
Upununpnnhg kpughshpught Utlyniuhy dwppnn gnpshp
twdwl] (MAF) - 2h wwhwbgynid (Uknwnuljwub ptponn)
0,6-2,6 Uu
1 x Mhugkwn
1 x twtwly thnpaynn
2tnpbipm]
1 x uyhwnwl PVC
duyuyku
2 x Muuninuljuhwt 3"
nniyu x3D+-
2 x Mnninwljuwhwt 3"
ynyu x5D+-
Uwqhuljut Uwquhuljut
wuniinnwluwhwbbph hwjwpwént | wunniwnmwljwhwuttph
powlyny b 54 qjuhtpny’ hwjwpwédnt pnuwlyny b
7 hun. ‘Ukpphtt Jiguulyni 54 qijuhlubpny
Juppulubp’ M2.5/M3.0/M3.5/ | 7 hwn. Ukppht
M4.0 / M4.5 / M5.0 / M5.5 Yhgutlnit Jupnuiljikp’
Upnpbp 1.3/15/2.0/25/3.0/3.5 | M2.5/M3.0/M3.5/M4.0/
/4.0 M4.5/M5.0/ M5.5
Uwqihuwly | $hihwyu 1.5/2.0/2.5/3.0/3.5 Upnpbp 1.3/15/2.0/25
wh Torx T3/T4/T5/T6/T7/T8/T9/ | /3.0/3.5/4.0
5y | wwmunuly | T10/T15/T20 $p]11‘u1u‘ 1520253035 | o
whwhubph | Hex: H1.3/H1.5/H2.0/H25/H3.0 | Torx T3/T4/T5/T6/T7
hwJwpwén | /H3.5/H4.0/H4.5/H5.0/He6.0 /T8/T9/T10/T15/T20
1 Pozi: Pz0/ Pz1: 2.0/2.3 Hex: H1.3/H1.5/H2.0/
Bpbp plkp Y2.0/Y3.0 H2.5/H3.0/H3.5/H4.0/
Nkbnwynp (wuwnn) 0,8/ 1,2 H4.5/H5.0/ H6.0

U-al U2.6

tllnp‘ 1.0

1 x H4 * 120 Ud Epjupugdw pup
1 x Uwpdwpt vhughs

1 x puqUudniijghniiuy
Epjupugdwi duniju

Pozi: Pz0/ Pz1: 2.0/2.3
Bpbp plikp Y2.0/Y3.0
NEnwynp (wuwnn) 0,8 /
1,2

U-al U2.6

LI]_np‘ 1.0




1 x qnijq ujhugkwn 1xH4*120 dd
Upununpnnhg pupthpuyh tpjupugdwi pup
twdwl] (MAF) - 2h wwhwbgynid 1 x Uwpdwpk vhwlyghs
1 x puquudniuljghniiuy
Epjupugdwt duniju
1 x qnujq whughwn




2UqGBLYUO 2

nbkjthjwlwt punipwughp -
quiwt duwdwbwljugnygh
8uLu
dwnujupupdwi hwugkubkph
2b | Uwpq | Typng | Zuugh

Zhdtwljwb nupngubpp 10-wpwltpn pnnipjudp

1 q. Zmgynt h/n 5-pn thnnng, 37/1
2 p. Uqwdtpgm U. Uywtgupjuih widwt phy 1 h/y Eugkjuh thnnng, 2/1
3 p. Ughwnwlh ©. Uquuyniph wudui phy 3 h/y NMuwpwgnpdubph thnnng, 44
Lnnnt dwpq
4 p. Ughwnulh duppubiwig phy 4 h/y Ujghuwwt thnnng, 53
5 p. dwwdnph Qujh wmduwt phy 21 h/y ‘Uhquuh thnnng, 49
6 p. Ywtwdnph G. Qupkugh wudu phy 12 h/n Chpwljugh thnnng, 12
Zhluwljui nuipngubph 20-wpwlpn pnnipjudp
1 p. Uymykpynt phy 12 h/n Uwpwhwpph thonng, 2/26w
2 p. Ughwnwyh U. Uynuthljuth wudut phy 1 h/y Ujuutihljjut thnnng, 1
3 p. Ugthvnwyh k. Skp-Uhdntyutth widwb phy 2 h/y Uybwnhujwt thnnng, 316
4 p. Untthwtwjwith U. Cwhnidjuth wudwi phy 1 h/y Punpudjut thnnng, 67
5 p. Unbthwtwdwih Unipp phgnp Lntuwynpsh widwb phy 2 h/y Unipp Lowitih thnnng, 39
6 p. dwtwdnph N. Uhwlh wudwi phy 30 h/y Swipnt 2-py punudwy, £C2 4, Nhjpwhtwlwl ynynuw, 10/2
7 p. Ywtwdnph U. Puljniigh widwt phy 7 h/y ‘Lunpkljwugh thnnng, 13
8 p. Ywtwdnph U. Uwplnujuith widwb phy 8 h/y Uwpwnng thnnng, 1
9 p. Ywbiwdnph U. Mnioyhuth wudwi phy 4 h/y Shqpwit UkSh thnnng, 23
10 p. Ywbwdnph U248 duqqk 1-ht widwb phy 1 h/y Ujwutthljjuts thnnng, 10
11 p. Ywtwdnph U. buwhwljjuth widui phy 2 h/y Zhpwgnt thnnng, 17
12 Lnentupg p. Ywuwdnph }. dwpnidutth wadwb phy 16 h/n Swpni 4-pn punudwu, QEjpeniuh thngng, 5
13 p. Ywuwdnph v. Upnjjuth wbidut phy 9 h/y Uunpwuhlh thnnng, 71
14 p. Ywuwdnph Ondulju; Puwlngh wmdut phy 23 h/y Puwhwljjut thnnng, 1-ht tppwtigp
15 p. YQwbwdnph Z. Bnidwiyuh wudub phy 3 h/y Shgpwt Uksh thnnng, 35
16 p. Ywtwdnph . Ujhowth wtuwt phy 27 h/y Swipni 4-pn punudwu, Qbjpenith thnnng, 3/4
17 p. Ywtwdnph N. Shshtiwgh wudwt phy 20 h/y Ujuutihljjut thnnng, 7w
18 p. Ywtwdnph U. @npjutth wtdub phy 22 h/n FPuttwlh thnnng, 29
19 p. Ywbwdnph 9. Ukjhpubpjuith wudwi phy 28 h/y Swpnt 2-p punudwu, £C2 3, 88/1-1
20 p. Ywiwdnph 4. Zwdpwpdnidjuth widwt phy 25 h/y Zulpwpdnidjuth thonng, 2
21 p. Swohnh U. Unkljjmuh midwi phy 2 h/y Yhdhp&ut thnnng, 8
22 p. Ywtwdnph fwddnt wudui phy 19 h/y Onifuwgjuiti thnnng, 24-1



file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/816
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/790
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/835
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/834
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/761
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/749
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/798
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/831
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/832
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/860
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/861
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/765
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/744
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/745
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/742
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/739
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/740
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/758
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/746
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/764
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/741
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/760
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/759
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/763
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/762
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/754
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/903
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/757

23 | | p. Unbthwtwduih U. vnphtwgnt wdwb phy 3 h/y

Uonunwpkpn punudwu

Uhguwlwng nupngltp S-wpwlbpun jonmpyudp

1 q. Upduph U/

2-p thnnng, 1

5 Lnnnt dwipq q. Umpuunnydluyh U/

1-ht thnnng, 3

Uheuwmljuipg nunpngutp 10-wowljtpn uunntpjudp

g. Uks Ujpnudh u/ny

6-n1} thnnng, 115/1

g. @tnninh U/y

2-py thnnng, 1-hl thwlymnh, 2

g. Lintwdwuh U/

11-pn thnnng, 15

g. Lntuwnpyniph U/

1-ht1 thnnng, 21

q. Ounuptph . Uwpunhpnujwith widui /g

2-py thnnng, 10

q. Ywpltwnpmiph U/y

8-pn thnnng, I-htt tippwitgp, I

Sle|lv|w|N|o|un|w =

Lnnnt dwpq | g. Minninh /gy Qjnin Minnin
q. Mphynjungkjh U/ 1-h thnnng, 55
q. Uupwhwppeh /g 6-ny} thnnng, 15
q. Uytpynyh u/n 1-ht thnnng, 7-py thwlyninh, 1
p. Uymygbpgnt 6. Quipkugh wadut phy 9 U/ Thptinh thnnng, 2/1
12 p. Upwjuyh phy 1 U/y Upnyjwl thnnng, 4
13 p. Cudjninh u/ny 8-nn thnnng, 1/2

Uhetuwljupgq nunngutn 20-wowljtipn juunnipjudp

1 q¢. Ynyuqupuilh U/n 1-ht thnnng, 5

2 q. @nquputh U/n 6-n1 thnnng, 4

3 ¢. twupwuuh U/y 2-nn thnnng, 9

4 ¢. Lintwhnyhwhp d/y 9-ny thnnng, 10

5 q. Lkntwgph u/n 8-nn thnnng, 2

6 g. Lipunuwnnynh /y 1-hu fju&ninh, 2

7 g. Guptweph U. Ukjpuiyuth wudub u/y 1-ht thnnng, 3

8 ¢. Unippwih U/y 5-ny thnnng, 12q

9 Lnnnt wupq g. Uuipquihnyuh 2. Bnidwiyuh widui d/y 3- pn} thnnng, 20

10 q. Uks Mwptuhh U. Ukpnujuth wbdut d/n 1-ht thnnng, 76

11 q. UkdwJulih phy 1 d/ny Onpujup Uunpuuthlh thnnng, 46
12 q. Gwhnuljuth U/ 3-nn thnnng, 15

13 g. Gunnh uU/y 1-ht thnnng, 6

14 q. 2pupkih U/n 7-nn thnnng, 35

15 q¢. Uupudboh U. dupdwiywih wigub u/n 1-ht thnnng, 2-pn tppwtigp, 10
16 q. Uupsuybwnh U/ 2-pn thnnng, 7

17 g. Odntuh 2. Odubkgnt wujul phy 1 U/y 5-pn thnnng, 10

18 g. dhnjtwninyngh U/ 2-pn thnnng, 344



file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/863
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/894
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/895
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/808
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/810
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/845
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/852
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/846
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/874
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/872
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/897
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/848
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/871
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/795
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/829
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/819
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/870
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/851
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/777
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/889
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/855
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/783
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/850
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/868
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/780
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/841
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/885
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/781
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/803
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/839
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/849
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/887
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/800
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/784

19

p. Unbkthwtwduh 9. @hphjuwth widuwh phy 6 U/y

Unipp Ywpnuth thnnng, 1

20

p. Ywbwdnph U Mjqupjuih wijub phy 18 u/y

Bplwiywtb jugninh, 151

21

p. Ywuwdnph @. Quniph wdwi phy 24 U/y

‘Ukpuhujut thnnng, 6

22

p. Ywtwdnph Uwpkdwnhuih b ptughnuljut wnwupuubph

hunpugdus ntunigdudp hwwnntly nupng

Jupnubwig thnnng, 100

23

¢. Qwbdwpwph /1 /Swniph dwpg/

28-pn thnnng, 4

24

q. Zuipdhuh U/n /Umiithph dwipg/

8-pn thnnng, 4

«3ULrLUL» UNC inliopbl’

Nnpbnwn lvwiswinpywl

Digitally signed by ASLANYAN ASHOT 4007950288

Date: 2024.04.26 10:15:09 AMT



file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/864
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/755
file:///C:/Users/Mher.CFEP/AppData/Local/Microsoft/Windows/INetCache/Content.MSO/E7A303FC.xlsx%23/schools-manual-reports/schools/752

		2024-04-26T10:15:09+0400




